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Re-Imagination of learning

Read each question, and circle the correct answer.

1. When comparing these two numbers: 15,607 or 15,670 what do you notice?

A. They have the same place value and use the same digits

]?. The numbers in the tens place and ones place are inverted
(/ CT)Both aandb
NS

2. Which statement is true about these two numbers: 14,456 and 14,465?

A. They use the same digits
B. They have the same place value
C. All of the above

3. Which statement is false?

A. 85,607 = 55,760
B. 55,067 < 55,567
C. 65,760 > 55,067

4. Which statement correctly uses the = sign?

A. 75,045 = 75,405
B. 75,045 = 75,045
C. 75,504 = 75,045

5. Which number should be placed in ( ) to make this statement true: 285 < 2( )5%

A. 9
B. 8
C.7

6. Which number should be placed in ( ) to make this statement true:
( )1,064 > 71,5647

A. 8 or9
B.6or 7
C.B5o0r 4
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